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3,1 143 15 17 20 22 252274 30 32 35 37 40 42 45 47 50 52 55 57 60 m
8 75 65 53 47 4 4 36 33 3 28 255 24 2220519 18 17 16 15t
3,1 156 17 20 22 25 276299 32 35 37 40 42 45 47 50 52 55 m
8 72 59 53 45 4 4 37 33 31 28 27 245 23 215205 19 t
3,1 186 20 22 256 27 30 33 359 37 40 42 45 47 50 m
8 74 66 56 51 45 4 4 39 35 33 31 29 27 t ()
1Y) (Y]
31 208 22 25 27 30 32 35 369401 42 45 m 8
8 75 64 59 52 48 43 4 4 38 35 t - 04t
4
\\_—.
3,1 207 22 25 27 30 32 35 368 40 m m)
8 74 64 58 52 48 43 4 4 ¢ —— =u - 04t
3,1 208 22 25 27 30 32 35y
8 75 65 59 52 48 43 ¢
3,1 208 22 25 27 30 m
8 75 65 59 52 t
24 » 145 15 17 20 22 26 265 30 32 35 37 40 42 45 47 50 52 55 57 60 m
8 77 67 55 49 4 4 34 32 28 26 24 22 205 19 1,75 1,65 1,55 145 1,35 t
24 158 17 20 22 25 284 29 32 35 37 40 42 45 47 50 52 55 m
8 74 61 55 47 4 4 3532 3 27 2523 22 2 19 175t
2.4 189 20 22 25 27 30 32 341348 37 40 42 45 47 50 m
8 75 67 58 53 47 43 4 4 37 34 32 29 275255 t () ¥ .
24 21 22 25 27 30 32 35 382389 40 42 45 m 8
8 76 66 6 53 49 44 4 4 39 36 335t s - 01t
\\_—.:i
2.4 23 2 25 27 30 32 35 384392 40 m (m)
8 77 67 61 54 5 45 4 4 39 t —— =5 ()
2.4 214 2 25 27 30 32 35
8 77 67 61 54 5 45 ¢
2,4 214 22 25 21 30 m
8 77 67 61 54 t
1100 kg - 3 600 kg
A, ==
60 m 172m 15200
55m 172m 15200
50 m 172m 14100
45m 147 m 14100
40 m 147 m 13000
35m 14,7 m 11900
30m 14,7m 10 800
25m 147m 10 500
Hm)| 412 312 212 112
A (f)] 80 75 70 70
Hm)| 462 412 362 312 262 212 162 112
A () 70 65 60 60 55 55 55 55
H(m)| 558 50,8 458 408 358 308 258 208
A ()] 114 90 66 54 48 48 48 48
H(m)| 67 62 57 52 47 42 37 32 2 22 17
A(f) 132 108 84 72 48 24 24 24 24 24 24
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ch-PS
i kW
mimn 22— 88 =28 =36 =50 > 74 11— 44514 =18 = 25 - 37
—— . — 2
t 4 4 4 3 2 1 8 8 8 6 4 2 % R
m/min 38 =148 =46 =58 =84 =122 19 =74 — 23 = 29— 42 — 61
t 4 4 4 3 2 1 8 8 8 6 4 2 9| e
mmin 36 — 42 — 5 — 84 — 114 18 = 21 = 28 = 42 — 57
t 4 4 3 2 1 ) 8 6 4 9 50 37 605 m
m/min 0—-79 6,5 48
tr/min
U/min 0—-08 2x55 2x4
rpm
m/min 12,5-25 2x7 2x5.2
m/min 15-30 4x5 4x3,7
m/min 13,5-27 4x7 4x52
33 LVF : 50 kVA
400 V (+6% -10%) 50 Hz 50 LVF : 65 VA
33 LVF 20 Optima 50 LVF 20 Optima 50 LVF 20 GH Optima
m/mn m/mn
122 , .
m/mn +¢&A’ +¢&A L t
+25% ) t &
66 Ve
50 46 1
28 1 1
1 2 A4t 2 1 2 4t
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